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\ Consider this structure
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Now add a Java VM
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What will happen if we add
another kind of scheduler?




An alternative structure

ThreadScheduler

-implementation : ThreadSchedulerimplementation
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PreemtiveThreadScheduler

TimeSlicedThreadScheduler

Now there Is less code to add when we either
want to add a new platform or a new scheduler




\ Example

Switch

SwitchDevice

- implementation : SwitchDevice [
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‘Bridge

Abstraction

Implementor

-implementor : Implementor e STpiermentor

+ operation()

RefinedAbstractionA

+ operationimplementation()
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operation
{

implementor-=operationimplementation();

}

RefinedAbstractionB

Concretelmplemeturﬂ

+ operationimplementation()

Concretelmplementorﬁ

+ operationimplementation()




\ Example

Stack
# stackData ; Stackimplementor*
+ Stack( : ImplementationType)
+ ~ Stack()
+ pushfval : int)
+ pop() : int
+ BEmpty() : bool
+ isFLIlf) : bool

FIFO_Stack

+ FIFO_Stack( : ImplementationType)

+ push(val : int)
+ popl) @ int

+ isEmpty() : bool
+ isFull() : bool

Stacklmplementor

#stackData 0.1

+ Stacklmplementor()
+ pushival : int)

+ pop() : int

+ BEmpty() : bool

+ sFUllf) : bool

Arraylmplementor

Listimplementor

- iftemList : int*
- currentltem ; int
-size :int

-head : Node*

+ Arraylmplementor( : int)
+ ~ Arraylmplementor()
+ pushival : int)

+ pop() @ int

+ isEmpty() : bool

+ isFull() : bool

+ Listimplementor()
+ ~ Listimplementor()
+ pushival : int)

+ pop() :int

+ isEmpty() : bool

+ isFull(} : bool

HanoiStack

+ HanoiStack( : ImplementationType)
+ push(val : int)

+ pop() @ int

+ isEmpty() : bool

+ isFull() : bool

- peek() : int

Q -nextMode|0..1

Node
-value : int
0.1 nexthode : Node*
-head |+ Modelval : int, next : Node*)

+ getvalue() : int
+ gethext() : Node*
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